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ECONOMICS

Paper : ECO-HE-6016
( Environmental Economics )
( Honours Elective )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate Jull marks
Jor the questions

Answer either in English or in Assamese

1. Answer any ten of the following as directed :

o R P R P S
(a) What is ecosystem?
RS oy 2
(b) Give an example of renewable resétirce.
ARAPICAIN ol B St i |
(c) Define welfare economics.
T SAAST Aeemt |
(d) What is market failure?
&R Rgerer 9
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(2) (3)

(e) Non-excludability ;
ability is 5 feature of () What is meant by environmental

Fill i ; subsidy?
T RRer 25 = h‘JﬁT( In the gap) |
— 1 gy | e A e 3 e T
S |
(fl The depletion ; ﬁ’ﬁq ) (k) Mention one cause of air pollution.
m ¢ |
caused by the ‘ozone layer’ is | M AR BT IR TCEY
T T '
: PRty () Define sustainable development.
() carbon dioxide
F W&e e Saged kel |
(@ ;‘:ﬂlaﬂe | (m) What is green accounting?
R % sl 52
(iii) nitrous oxide
BIEn1 (n) What is travel cost method to decide use
EEIEY 1
v value of environmental good?
(iv) chlorofluoroe o
T on | oifica AR TR P LR I 4T =D
li / : 5 “wfecs! 2
(Choose th
(%e correct answer) (0) What is existence value?
(@) What is globa] vy, . ST 1M, Threay) e e 52
T Sy Ry
(h) What is free e 2. Answer any five of the following questions 2 ol
ro i x5=
1@ RICIELE g ﬁ; -y IEm?
Q) W : T epeaEd R e bR Tes fa -
L rite the fu .
ERC3H b ;;rg?rm SR (a) Define resource economics.
il o wefAfeT el o |
22A/867
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(b)

(c)

(d)

(e)

(9)

(b

22A/867

(4)

Distinguish between strong
sustainability and weak sustainability.

Mention two economic functions of
environment.

AR B LA IR Bramy 771

Write two consequences of global
warming.

- oI TREOTR BT ARy Ryt |

Mention two characteristics of public
good.

reredt AR 1 B Srmy 3y

What is meant by embedding effect?
AR 2R I R e a0

Mention two approaches of pollution
control policies.

ot Rt A A0 2t w51 spaef oama <ot

Write two arguments for environmental
regulations.

iR FRIER 3103 1 3R foray |

( Continued )

(S)

3. Answer any four of the following questions :
5x4=20
O 2T R e v ey f

(a) Write a note on the importance of
studying environmental economics.

R SN SR weey eoq @S Gr

foran 1

(b) Explain the impartant characteristics of
property right.
Tl wReRT 3 QPRI 9t =1 )

(c) Write a short note on ‘Tragedy of
Commons’.
TEREH TR ciRzery Ry @ 13}
Coret fora |

(d) Explain the main principles in using
flmarket-based instruments to
implement environmental policy.

N W e @ s @@
WWWW?@WI

(e) Briefly mention different economic

instruments available for pollution
control.

M AR W o ARy ST
SRR TRE ey gy |
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(6)

( Explain the, limitations
contingent  valuation
environmental accounting,

ARG 1T N IR T e
MR MR a7 | !

(g) Write a short note on
environment trade-off,

T~ TTeareg
frt T SRS b vy e

(h) DiSCliSS about the ch " e of suitable
; : ¢ olc i
polle Instr ument . in developir:
g

countries for contro] of Pollution

oRT IR TR e
ﬁﬁym3!WﬁﬁTﬁﬁbqquv$!m GPH%;?FNﬁﬁ

4. Answer any four of the following questi
ons :

of using
method for

devélopment

Wmﬁmmﬁm%m. 10x4=40

(@) Explain clearly the inter:
the economy and en"i::nh:lnl:ﬁe between

LECUCERC I R
RECE =18 31 /7| AR

(b) What is bi()'diversity?
X . . y? Di

in which b1°‘di"ersity lszzu;i }t’he ways

occur.

tem-tahbaw 7 tum.
W‘l’l‘[{mwlm RS 2T o
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(c)

(d)

(e)

178

(9)

22A/867

(7)

“Externality creates the problem of
market failure.” Discuss the statement
with suitable diagram.

‘AR 3w REseR o m R w17
TEIC! Torge BaRe s 31 |

Critically explain the Coase theorem.
QRIRSGLD! FRICABGARTE 3941 1 |

What is internalization of externality?
How can negative externality be
internalized?

IRTOR BT 2 dIRE IRTO
R NI IRI 1R 2

.What are the causes responsible for

climate change? What steps have
internationally been taken to mitigate
this problem?

TR ARIGTR AP 7 o T T
IR AT R R W a2 I (TR ?

What is environmental pricing? Explain
the hedonic pricing of environmental
good.

MReew /R R A
e Rvew 3o w1 ™
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(8)

() How does tradable permit result in
mutually beneficial exchange outcome?
Explain -with the help of suitable
didgram.

areeee Rt o 332 Tore B w=m
1

() What are the main obstacles of
sustainable  development? Explain
briefly the main indicators of
sustainable development.

() What is transboundary Pollution?
Suggest some policies to
transboundary pollution.

* k&
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Paper : ECO-HE-6026

( International Economics )

( Honours Elective )

Full Marks : 80
Time : 3 hours
The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer any ten of the following questions :
1x10=10

Col AP R @i bR e fawn

(a) Mention one feature of international
trade.

WW@Wle

(b) What is international economics?

e SRS 2

(c) What is meant by comparative cost
differences?

TS IR Nl e 6 3 w2
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LT WiaS S

(2)

(d) Give one essential element of
Heckscher-Ohlin theory of international
trade.

@ER-9FFR G e EoR  «bl
TR oA o |

() What is meant by Leontief paradox?
frefBws 4E Tea & g= 3w 2

() How does economies of scale affect
international trade?

weftafes foafier @emE wEefss i
eI F@?

(g9 Who developed the technological gap
model of international trade?

wEifes e egfeRmm F1F =1fEd @
The FfRe ?

(h) Define multinational enterprise.

FgEies S e o |

() Give one argument in favour of free
trade.

& e e @bl e |

() Mention one objective of trade
restriction.

qiferen Fraze 9 o1 Sewey Srad 90 1

22A/868 ( Continued )

(3)

(k) What is political argument for trade
intervention?

T 2gCPeR AT R R 0

()  What is protection trade?
FRfrs it &2

(m) Define flexible exchange rate.

sifgSe [Ty 299 Sige fran o

(n) What is foreign exchange market?
et Ry Iw@ 2

(o) State one main feature of European
Monetary System.

RECIA I IRER <51 Fo1 ey Seme <

2. Answer the following questions in brief (any

five) :
TS fAl eRPREd Y Tes fiar (R et sho)

2x5=10

(@) Write two  subject matters of
international economics.

R ST 751 Ragas B |

(b) What is meant by pattern of trade?
TP 2 Tt e g 379 2
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(S)

G4
(c) E:::i;lig?ish be.then comigiet - and 3. Answer any four of the following questions :
plete specialization Sx4=20
of o :
;’1, e ReRR e oty By wor opqaE i G BRI T A -
(a) What are the reasons for international
(d) Menti ; trade? Explain.
Oh]inotlll.l two assumptiong of Heckscher- &
€01y of international trage ST fes e TR 2 0 4 |
IR - forerq .
W%mewlslﬁ oo <iferey OGR! (b) Explain the reasons which led to the
evolution of international economics as
fe) What a distinct branch of economics.
18 inte
o fhational product cycle wefer @b R e s
ST S AT FARTPR PR IR 40 1
E Ol
i ?
(c) Discuss the validity of Ricardian
() Is there any reley comparative costs theory in developing
comparative cogt az:;ce t:f the theory of countries.
integrat ' antage j
e e RECbally T (e RGO T SE0R
*ﬂ%ﬁﬁg{%wm guments FRFIRE SACEAE1 97 |
T TR AP g RTIETR Sffererrs
? 01 3 o (d) Explain the localization theory of
(6) What is finangjy b international trade in brief.
R e alizationp HIEEfeT qfiey FEEa ©gol BLe I
%9 e
(h) Menti Bl 4
Brettolrivt'wo CaUses for th (e) Distinguish between free trade and
s Oods SYStem, € downfall of protection,
Wﬁ‘ﬁf@qmﬁm TT MM W wafre qfawE TwS Ny
T @ 29 fef ¥ |
2A/868
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(6)

i Explain. the meaning of tariff. What are
the main types of tariffs?

e Y WY Fq
o2 S B SRR

(g) Distinguish between tari
n tar :
HORETE arsiare, iff barriers and

(h) In what way is th
e equilibrium
exchange  determineq uig peites ol
exchange rate system? er fixed

&1 R 3w
e =7 9 Nt sy fafem 2

(c)

@)

(7)

Discuss the superiority of Heckscher-
Ohlin theory over the Ricardian theory
of international trade. State the limita-
tions of Heckscher-Ohlin theory. 5+5=10
fRre’s ST ey veeld (FR-N o
SEOR el SeEAnT 9 EIR-

wEoR THRAOPTR STa 41 |

State and explain the technological gap
model of international trade. 10

wEEfes AR LfERTE ¥ Ol ay
1 S T 4 |

(e) Describe the main stages in the product
cle model.
Answer any four of the follgyiy, : ¥ %
g questions ST S OGLOH To TR A1 41 |
oS il epTes R 10x4=40
e B
(@) Explai Taq Tty - hi] Analyze the effects of tariffs in a partial
C:Ifl am - clearly the' g equilibrium system. 10
parative o icardian
: ; sts S ST TS WE e Reswe 941 |
international traq theory of g
e.
[PT6’3 o
5 RliGis o () Explain clearly the concept of optimum
ST m‘ﬁ?; RLRL tariff. Establish the relationship
(b) “Factor pro ; petween elasticity of offer curve and
3 portlons a«nd = 5 o
provide th : factor intensity optimum tariff. 4+6=10
speciajization.» Exp?:jls for export F0 WY ﬂﬁ"‘ﬂtﬁ -.nofﬁtqs [ 40N 'G["FF{
“TAFT S i 77 RfEETel W I wes oS T
ReRiwaeq T St 9 |
fofis > . URE gt o
20A/868 Al
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(8)

(h) Compare the effectiveness of tariff and
' quota as weapons of trade restrictions.

T P wRer Rt we e R
ﬁ«qm?@ﬁ@wwn

() How was equilibrium exchange rate
determined under gold standard? What

were the reasons for the collapse of the
gold standard?

IS STy xgePre Rffw v @
zgz@?@a?’sﬁmmwwmﬁf
?

() Discuss the key reasons for the

internatiOnal financial crisis. What are
the effects of the international financial

10

7+3=10

Crisis? 6+4=10

iR RS ST T FRPRR S
Wl%@ﬂmﬁ@?ﬂ@ﬁmﬁiﬂi?
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